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QUESTION 1

What is contained in an SOA repository as opposed to a registry?

A. Service policy information

B. Versions of software components

C. Uncommitted transactions to enable compensation handling

D. Service endpoint information to facilitate dynamic binding at runtime

Correct Answer: A

QUESTION 2

Which approach is considered the most effective first step in ensuring funding for the service lifecycle of shared services
at the enterprise level?

A. Chargeback mechanisms are put in place to prevent illegitimate use of services.

B. Use a \\'tax\\' based approach based on the overall usage of IT by each line of business.

C. Form an SOA governance organization and provide this group with the required funding.

D. Use the "first need" approach, where each project that needs a service first funds its creation.

Correct Answer: C

QUESTION 3

Which technique improves a business process?

A. Perform analysis of the resources being used by the process

B. Simulation of the process to identify and test improvements

C. Domain decomposition to identify the correct granularity of tasks

D. Monitoring availability of components that are used by the business process

Correct Answer: B

QUESTION 4
Which initiative helps achieve business agility in SOA?

A. Pairing up the appropriate service consumers and providers.
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B. Buying prefabricated objects to quickly implement business functions.
C. Choreographing a business process to efficiently implement the desired business functions.
D. Designing and developing a new business process model rather than adapting an existing one.

Correct Answer: C

QUESTION 5

When is an SOA implementation most appropriate?

A. Real-time performance is critical.

B. An immediate Return on Investment (ROI) is required.

C. The application interfaces require a high degree of customization.
D. Business functionality is required by many parts of the organization.

Correct Answer: D
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